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State the domains and ranges of the following functions.
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Sketch the region indicated by  x“+y“ > 25

Consider the function y= f(x)= ;
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What is the domain of the function?

Show that the function passes through the origin.

~ Determine if the function is odd or even or neither. Justify your answer.

What happens to the value of y as x approaches infinity? Justify your answer.
Sketch the curve showing important features including asymptote(s).
What is the range of the function.

From the graph, determine the values of x for which the curve is increasing.

Sketch the region indicated by:

y < 5+4x-x% 'and y=z2-x
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(@) Find the value of x if sin20° = Cos (18+x)°.
(b)  Find the exact value of
()  cot2120° - cosec? 120° + sec? 180°

(i) sin2(-210°)+ cos? 690°

Find all the solutions for cos & = 1—/_15 for 0L P 4 360,
Show that
/
(a) sin x - costx =1-2 cosZ x /;/,
(b). fan 75° = 243
© sin(x + ¥) _ tan3c+tany |
cos(x-y) 1+tanxtany )

solve for0° < @ =360°
2$ing~4cosz=3 /

The elevation of a hill at a place A due east of itis 39°. Ataplace B due south

of A, the elevation is o7°_|f the distance from A to B is 500 m, find the height of the hill.
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Ma*e ;o < L4 4360

6117(9 °() =3

where R = x/_vzl*#‘ —{w’“‘ z

z V2o = 2/5  A:63%%
zf' .3;4(0 -63°26°) =3

.\, Sin (8 - 63° zé') 0. 6708

5..53:26 = 42 J’ or 13705'2
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